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NO.10 You are organizing a Proof Of Concept (POC) for a potential HPE Synergy customer During the presentation the customer

asks about the solution capabilities for performing automatic creation and follow-up of support cases in case of failures.

Where will you show this functionality?

Solution: HPE ILO Embedded Remote Support

*  Yes

*  No

NO.11 A customer requires a hybrid storage solution capable of deduplicatlon. compression, and encryption of all their data. Which

HPE storage product meets the customer&#8217;s requirements?

Solution:HPE Nimble HF40

*  Yes
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*  No

NO.12 A customer has the following HPE SimpliVity configuration.

* 4 nodes in 1 cluster &#8211; 2 x 16c CPU

* 384 GB RAM

* Medium 4000 storage kit

* SFP+ connectivity

* VMware hypervisor

The customer needs to increase the available storage capacity in the configuration. What is the most cost-effective solution that

meets your customers needs?

Solution:Add one HPE SimpliVity node with the same configuration to the cluster

*  Yes

*  No

NO.13 A customer requests a compute platform to support combined OLTP and OLAP workloads. Which platform should you

recommend?

Solution:Superdome Flex

*  Yes

*  No

NO.14 An administrator has two switches connected with a single link. The administrator observes that, during hours of peak

activity, the storage traffic tends to consume the link. The link is shared with other types of traffic that is time sensitive.

Solution: RDMA over Converged Ethernet (RoCE) technology can the administrator use to help alleviate the situation while they are

working towards a long-term solution.

*  Yes

*  No

NO.15 A customer is experiencing read cache hit ratios well below 80 percent on an HPE Nimble HF40 array Data is constantly

being ejected from the Nimble array&#8217;s First In First Out cache Solution: Turn off deduplication on affected volumes

*  Yes

*  No

NO.16 You are demonstrating an HPE SimpliVity environment. You want to show the efficiency obtained on the environment with

the built-in deduplication and compression of the HPE SimpliVity solution for that specific environment Where should you go in the

vSphere Web Client console to show this?

Solution:HPE SimpliVity Federation &#8211; Datastores

*  Yes

*  No

NO.17 You are organizing a Proof Of Concept (POC) for a potential HPE Synergy customer During the presentation the customer
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asks about the solution capabilities for performing automatic creation and follow-up of support cases in case of failures.

Where will you show this functionality?

Solution: HPE iLO Amplifier Pack

*  Yes

*  No

NO.18 Which HPE Apollo platform Is recommended for Big Data and scale-out storage workloads*?

Solution:HPE Apollo 4200 meet this requirement.

*  Yes

*  No

NO.19 A customer wants to deploy applications more rapidly. The solution must provide flexibility in deploying different

workloads In an efficient, repeatable manner in virtualized and non-virtualized environments.

Solution:HPE FlexFabric infrastructure will provides this capability

*  Yes

*  No

NO.20 A customer is placing a large order of HPE ProLiant DL380 servers with custom factory integration. Which type of SKU

should you use for this order?

Solution:CTO

*  Yes

*  No

NO.21 Your customer wants to replace the company&#8217;s aging infrastructure. The following compute workloads must run on

the selected compute platform for your solution

* Physical Server workloads

* Hyper-V Virtuailzation

* VMware Virtualization

* Containers

Which solution should you use to meet the customers needs?

Solution:HPE Hyperconverged 250

*  Yes

*  No

NO.22 A customer needs to manage the power of their Apollo servers. The server racks provide only basic PDU capability.

Which Management tool will meet the customer&#8217;s need?

Solution:HPE Apollo Platform Manager
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*  Yes

*  No

NO.23 A customer has the following HPE SimpliVity configuration.

* 4 nodes in 1 cluster &#8211; 2 x 16c CPU

* 384 GB RAM

* Medium 4000 storage kit

* SFP+ connectivity

* VMware hypervisor

The customer needs to increase the available storage capacity in the configuration. What is the most cost-effective solution that

meets your customers needs?

Solution:Add additional disks per node for the required capacity, and do a RAID expansion by using Smart Storage Administrator

(SSA).

*  Yes

*  No

NO.24 You are demonstrating an HPE SimpliVity environment. You want to show the efficiency obtained on the environment with

the built-in deduplication and compression of the HPE SimpliVity solution for that specific environment Where should you go in the

vSphere Web Client console to show this?

Solution:HPE SimpliVity Federation &#8211; Virtual Machines

*  Yes

*  No

NO.25 A customer is facing high and unpredictable latency on an HPE ProLiant DL380 Gen10 server equipped with P408i-a

controller Solution: Smart Storage Administrator can display an Array Diagnostic Report.

*  Yes

*  No

NO.26 A customer is building a new Hybrid Infrastructure data center to support private, public, and hybrid cloud workloads. The

customer needs to be able to optimize the performance of East-West network traffic.

Solution: Access/Aggregation/Core will meet this requirement.

*  Yes

*  No

NO.27 A customer has the following HPE SimpliVity configuration.

* 4 nodes in 1 cluster &#8211; 2 x 16c CPU

* 384 GB RAM

* Medium 4000 storage kit
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* SFP+ connectivity

* VMware hypervisor

The customer needs to increase the available storage capacity in the configuration. What is the most cost-effective solution that

meets your customers needs?

Solution:Add four &#8220;HPE SimpliVity 380 2 Processor Medium to Large Storage Upgrade E-LTU&#8221; storage expansion

kits.

*  Yes

*  No

	

	

Latest HPE1-H01 Actual Free Exam Questions Updated 47 Questions: 
https://www.test4engine.com/HPE1-H01_exam-latest-braindumps.html]

[Aug-2022] HPE1-H01 Exam Dumps, HPE1-H01 Practice Test Questions [Q10-Q29] |  Page 5/5  |

https://blog.test4engine.com/?p=229
https://www.test4engine.com/HPE1-H01_exam-latest-braindumps.html
https://blog.test4engine.com/?p=229

